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Q.1

Ans

Comprehension:

Refer to the below passage and answer the questions.

Malaysia is a country that boasts a rich and diverse culinary landscape. With food centers
located in all areas of the cities and housing estates, locals and tourists alike are spoilt for
choice when it comes to satisfying their taste buds. Malaysians are known for their
discerning palate and love for good food, and the popularity of a food stall is often spread by
word of mouth. Despite the wide array of food choices, one stall stands out amongst the rest.
This stall is owned by two women who specialize in selling deep-fried local snacks. Their
deep-fried dough sticks, spring rolls, battered yams, red bean cakes, tapioca, bananas, and
sweet potatoes are prepared fresh every morning by the two women and their young
assistants. The fried dough stick is light and moist, while the batter in which the yams and
potatoes are dipped make for crispy and tasty cakes. It is no wonder that queues of people
wait eagerly to be served daily.

The stall's success is evident in the framed certificate at the front of the stall, indicating that
they were recently awarded a certificate of excellence for good food by a food critic.
Furthermore, the stall always looks clean and hygienic, with random checks by inspectors
from the Ministry of Health to ensure that hygiene standards are maintained.

In Malaysia, having food centers easily accessible that cater to everyone's dietary needs is an
asset and convenience, particularly for those living busy lives or unable to prepare meals at
home. Malaysia is indeed a food paradise, and exploring its culinary delights is an adventure
worth taking.

SubQuestion No : 1

Select the most appropriate SYNONYM of the given word below.
Evident

5 1. Impossible
«# 2. Possible
< 3. Hidden

X 4. Unlikely

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680449205
6306801753965
6306801753963
6306801753962
6306801753964
Answered

2




Q.2
Ans

Comprehension:

Refer to the below passage and answer the questions.

Malaysia is a country that boasts a rich and diverse culinary landscape. With food centers
located in all areas of the cities and housing estates, locals and tourists alike are spoilt for
choice when it comes to satisfying their taste buds. Malaysians are known for their
discerning palate and love for good food, and the popularity of a food stall is often spread by
word of mouth. Despite the wide array of food choices, one stall stands out amongst the rest.
This stall is owned by two women who specialize in selling deep-fried local snacks. Their
deep-fried dough sticks, spring rolls, battered yams, red bean cakes, tapioca, bananas, and
sweet potatoes are prepared fresh every morning by the two women and their young
assistants. The fried dough stick is light and moist, while the batter in which the yams and
potatoes are dipped make for crispy and tasty cakes. It is no wonder that queues of people
wait eagerly to be served daily.

The stall's success is evident in the framed certificate at the front of the stall, indicating that
they were recently awarded a certificate of excellence for good food by a food critic.
Furthermore, the stall always looks clean and hygienic, with random checks by inspectors
from the Ministry of Health to ensure that hygiene standards are maintained.

In Malaysia, having food centers easily accessible that cater to everyone's dietary needs is an
asset and convenience, particularly for those living busy lives or unable to prepare meals at
home. Malaysia is indeed a food paradise, and exploring its culinary delights is an adventure
worth taking.

SubQuestion No : 2

Identify the central theme of the passage.

" 1. Malaysia is a food paradise with the food centres available easily and exploring its
culinary delights is an adventure worth taking.

X 2. The stalls in food centres of Malaysia are facing a hard time to survive and often
struggle to make profits.

< 3. Itis very difficult to find good food centres in Malaysia.

X 4. The food served in the stalls are very unhygienic and often gets rejected by the
Ministry of Health.

Status

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680449204

6306801753961
6306801753960
6306801753959
6306801753958

: Answered
Chosen Option :

1




Q.3
Ans

Comprehension:

Refer to the below passage and answer the questions.

Malaysia is a country that boasts a rich and diverse culinary landscape. With food centers
located in all areas of the cities and housing estates, locals and tourists alike are spoilt for
choice when it comes to satisfying their taste buds. Malaysians are known for their
discerning palate and love for good food, and the popularity of a food stall is often spread by
word of mouth. Despite the wide array of food choices, one stall stands out amongst the rest.
This stall is owned by two women who specialize in selling deep-fried local snacks. Their
deep-fried dough sticks, spring rolls, battered yams, red bean cakes, tapioca, bananas, and
sweet potatoes are prepared fresh every morning by the two women and their young
assistants. The fried dough stick is light and moist, while the batter in which the yams and
potatoes are dipped make for crispy and tasty cakes. It is no wonder that queues of people
wait eagerly to be served daily.

The stall's success is evident in the framed certificate at the front of the stall, indicating that
they were recently awarded a certificate of excellence for good food by a food critic.
Furthermore, the stall always looks clean and hygienic, with random checks by inspectors
from the Ministry of Health to ensure that hygiene standards are maintained.

In Malaysia, having food centers easily accessible that cater to everyone's dietary needs is an
asset and convenience, particularly for those living busy lives or unable to prepare meals at
home. Malaysia is indeed a food paradise, and exploring its culinary delights is an adventure
worth taking.

SubQuestion No : 3
Identify the suitable title for the passage.
< 1. Food stalls and competition

X 2. Good Food & Good critic
«# 3. Exploring the Culinary Delights of Malaysia's Food Paradise

X 4. Malaysia and its struggles with food industry

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:
Chosen Option :

630680449203
6306801753954
6306801753955
6306801753956
6306801753957
Not Answered




Q.4

Ans

Comprehension:

Refer to the below passage and answer the questions.

Malaysia is a country that boasts a rich and diverse culinary landscape. With food centers
located in all areas of the cities and housing estates, locals and tourists alike are spoilt for
choice when it comes to satisfying their taste buds. Malaysians are known for their
discerning palate and love for good food, and the popularity of a food stall is often spread by
word of mouth. Despite the wide array of food choices, one stall stands out amongst the rest.
This stall is owned by two women who specialize in selling deep-fried local snacks. Their
deep-fried dough sticks, spring rolls, battered yams, red bean cakes, tapioca, bananas, and
sweet potatoes are prepared fresh every morning by the two women and their young
assistants. The fried dough stick is light and moist, while the batter in which the yams and
potatoes are dipped make for crispy and tasty cakes. It is no wonder that queues of people
wait eagerly to be served daily.

The stall's success is evident in the framed certificate at the front of the stall, indicating that
they were recently awarded a certificate of excellence for good food by a food critic.
Furthermore, the stall always looks clean and hygienic, with random checks by inspectors
from the Ministry of Health to ensure that hygiene standards are maintained.

In Malaysia, having food centers easily accessible that cater to everyone's dietary needs is an
asset and convenience, particularly for those living busy lives or unable to prepare meals at
home. Malaysia is indeed a food paradise, and exploring its culinary delights is an adventure
worth taking.

SubQuestion No : 4

Select the most appropriate meaning of the given word below.
Array

+" 1. alarge group of things or people, especially one that is attractive or causes
admiration or has been positioned in a particular way

X 2. the fact of feeling something physical
< 3. the feeling of admiring someone or something

X 4. relating to the body

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

630680449206
6306801753968
6306801753969
6306801753966
6306801753967
Not Answered




Q.5 Read the below passage:
A fisherman, enfeebled with age, could no longer go out to sea, so he began fishing in the
river. Every morning he would go down to the river and sit there fishing the whole day long.
In the evening he would sell whatever he had caught, buy food for himself, and go home. It
was a hard life for an old man. One hot afternoon while he was trying to keep awake and
bemoaning his fate, a large bird with silvery feathers alighted on a rock near him. It was
Kaha, the heavenly bird. ‘Have you no one to care for you, grandpa?’ asked the bird. ‘Not a
soul’. ‘You should not be doing such work at your age, ‘ said the bird. ‘From now on I will
bring you a big fish every evening. You can sell it and live in comfort’. True to her word, the
bird began to drop a large fish at his doorstep every evening. All that the fisherman had to
do was take it to the market and sell it. As big fish were in great demand, he was soon
rolling in money. He bought a cottage near the sea, with a garden around it and engaged a
servant to cook for him. His wife had died some years earlier. He had decided to marry
again and began to look for a suitable woman.

Which one of the following is the CORRECT logical inference based on the information in
the above passage?

1) The old fisherman had been looking for a suitable woman to get married from quite a long
time.

11) The kaha, heavenly bird was troubling the old man a lot and he wanted to get rid of him
anyhow.

11I) The old fisherman was living a very hard and difficult life.

Ans X 1.1, 11, &1l only

«" 2.1l only
X 3.llonly
X 4.1&llonly

Question ID : 630680449213
Option 11D : 6306801753993
Option 21D : 6306801753992
Option 31D : 6306801753991
Option 41D : 6306801753990
Status : Answered
Chosen Option : 2

Q.6 Read the below passage:
Suspense was over when my high school results finally came out. But | was upset. | hadn't
done as well as | had expected. My father tried to console me. ‘Why are you worried? You
have done very well my dear’. ‘No, | haven't, Baba, | protested, controlling my tears, and
wondering if | had disappointed him. ‘It doesn't really matter, he assured me. ‘Do you know
what | got when | finished high school ?’ | looked into Baba’s face and waited for the answer
to his own question. ‘You know, he told me. ‘I've never told you this. | got just a third
division. But look at me, I've done quite well’. Baba got a third division! | was almost in
shock, but the thought of my having done a lot better than that made me realize that | had
no reason to complain. | certainly felt better ! ‘Everything is under control !’ said Baba,
smiling. That was his favourite phrase.

Which one of the following is the CORRECT logical inference based on the information in
the above passage?

1) The narrator was a very intelligent and bright kid and often scored good marks.

11) The result of the narrator’s father in high school was better than that of the narrator.
11l) The favourite words of the narrator’s father were “Everything is under control !"

Ans X 1.llonly
« 2.1l only
25 3.1&lllonly
& 41,1, &1l only

Question ID : 630680449212
Option 11D : 6306801753988
Option 2 ID : 6306801753989
Option 31D : 6306801753987
Option 4 ID : 6306801753986
Status : Answered
Chosen Option : 2




Q.7

Ans

Comprehension:

Refer to the below poem and answer the questions.

Aunt Jennifer’s tigers prance across a screen,
Bright topaz denizens of a world of green.
They do not fear the men beneath the tree;
They pace in sleek chivalric certainty.

Aunt Jennifer’s fingers fluttering through her wool
Find even the ivory needle hard to pull.

The massive weight of Uncle’s wedding band

Sits heavily upon Aunt Jennifer’s hand.

When Aunt is dead, her terrified hands will lie
Still ringed with ordeals she was mastered by.
The tigers in the panel that she made

Will go on prancing, proud and unafraid.

SubQuestion No : 7

Select the most appropriate SYNONYM of the given word below.

Chivalry
«" 1. Manners

X 2. Vulgarity
< 3. Rudeness

X 4. Impoliteness

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680449210
6306801753980
6306801753978
6306801753979
6306801753981
Not Answered

Q.8
Ans

Comprehension:

Refer to the below poem and answer the questions.

Aunt Jennifer’s tigers prance across a screen,
Bright topaz denizens of a world of green.
They do not fear the men beneath the tree;
They pace in sleek chivalric certainty.

Aunt Jennifer’s fingers fluttering through her wool
Find even the ivory needle hard to pull.

The massive weight of Uncle’s wedding band

Sits heavily upon Aunt Jennifer’s hand.

When Aunt is dead, her terrified hands will lie
Still ringed with ordeals she was mastered by.
The tigers in the panel that she made

Will go on prancing, proud and unafraid.

SubQuestion No : 8
Identify the central theme of the poem.

+" 1. The narrator describes what ordeals and hardships Aunt Jennifer has gone through

during her married life.

X 2. Aunt Jennifer loves stitching and loves making only tigers.
/5 3. Aunt Jennifer had always been surrounded by good people and memories.

#< 4. Stitching is a very tedious process and thus should be avoided at all costs.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

630680449209
6306801753974
6306801753975
6306801753977
6306801753976
Not Answered




Q.9

Ans

Comprehension:

Refer to the below poem and answer the questions.
Aunt Jennifer’s tigers prance across a screen,
Bright topaz denizens of a world of green.

They do not fear the men beneath the tree;

They pace in sleek chivalric certainty.

Aunt Jennifer’s fingers fluttering through her wool
Find even the ivory needle hard to pull.

The massive weight of Uncle’s wedding band

Sits heavily upon Aunt Jennifer’s hand.

When Aunt is dead, her terrified hands will lie
Still ringed with ordeals she was mastered by.
The tigers in the panel that she made

Will go on prancing, proud and unafraid.

SubQuestion No : 9

Select the most appropriate meaning of the given word below.
Ordeal

X 1. the way that something happens and how it makes you feel
X 2.1to cause someone to be completely unable to understand or explain something
2< 3.in every way or as much as possible

« 4. a very unpleasant and painful or difficult experience

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680449211
6306801753984
6306801753982
6306801753983
6306801753985
Not Answered

Comprehension:

Refer to the below poem and answer the questions.
Aunt Jennifer’s tigers prance across a screen,
Bright topaz denizens of a world of green.

They do not fear the men beneath the tree;

They pace in sleek chivalric certainty.

Aunt Jennifer’s fingers fluttering through her wool
Find even the ivory needle hard to pull.

The massive weight of Uncle’s wedding band

Sits heavily upon Aunt Jennifer’s hand.

When Aunt is dead, her terrified hands will lie
Still ringed with ordeals she was mastered by.
The tigers in the panel that she made

Will go on prancing, proud and unafraid.

SubQuestion No : 10

Q.10 ldentify the suitable title for the poem.

Ans

X 1. Tigers in the panel

75 2. Aunt Jennifer and her memory
#< 3. Aunt and her stitching skills
" 4. Aunt Jennifer's Tigers

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
: Answered
Chosen Option :

Status

630680449208

6306801753972
6306801753973
6306801753971
6306801753970

4

Section : Part 1 General Odia




Q.1 SR GIF AURGR 684 QT6Q ARG QL 2IQF QGYeM ?
Ans X 1. 06800 od6a
X 2. 920 od6q
X 3.9010 edea
o 4. 090 Qd6R
Question ID : 630680449224
Option 11D : 6306801754026
Option 2 ID : 6306801754028
Option 31D : 6306801754029
Option 4 ID : 6306801754027
Status : Answered
Chosen Option : 4
Comprehension:
900 RIGIR 4o TeR §1a6a
QRIQ JRONFIER &6 J6FINea
c6m Q2Q QIR
AJHRAMFIR R6Q @RER 60R I"(RINENQS1)
SubQuestion No : 2
Q.2 QUEAIG KICILEITER QI ‘ReQ’ GIRQ 2T QE1?
Ans X 1.0 Qi@ d6e
o 2. 2106Q
X 3. 606m
& 4.2066Q
Question ID : 630680449220
Option 11D : 6306801754012
Option 2 ID : 6306801754010
Option 31D : 6306801754011
Option 4 ID : 6306801754013
Status : Answered
Chosen Option : 2
Comprehension:
900 RIGIRI 4o T°0R §106a
QRIQ FRO1FIER &6 g6FIRER
o6m QRQ QLR
AJHRAMAIR R6Q 2RER 60R I"(RINENQE1)
SubQuestion No : 3
Q.3 Q6gIg 676 SIRE UY' GRg 9E1a?
Ans X 1.29
X 2.96na
X 3.6a
o 4. 6Qae
Question ID : 630680449222
Option 11D : 6306801754021
Option 2 ID : 6306801754019
Option 31D : 6306801754018
Option 4 1D : 6306801754020
Status : Not Answered

Chosen Option :




Q.4

Ans

Comprehension:

‘900 RIGIRI ge T°eR §16a

QRIS RLFlIeR 6 g6FIRen

c6m QEQ QLI

AJHRAMFIR R6Q QRER 60R I"(RINENLS1)

SubQuestion No : 4
‘A8’ 61RQ FAQIGIZERRIR AT @62
" 1. 2880
X 2. 212
X 3.qd
X 4.am

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

630680449223
6306801754024
6306801754023
6306801754022
6306801754025
Answered

1

Q.5

Comprehension:

900 RIGIRI 4o TeR 91068

QRIQ FRO1FIIER &6 J6FIea

G6m @RQ QLR

AJHRAMAIR R6Q 2RER 69R I"(RINENQE1)

SubQuestion No : 5

QA SRR gAYIR JQ8 /-
ol Q68 602 A6 |

X 3.qgast
o 4.2600Q

Question ID

Option 2 ID

Option 4 ID

1 630680449221
Option 11D :

6306801754017

: 6306801754014
Option 31D :

6306801754016

: 6306801754015
Status:
Chosen Option :

Answered
4




Q.6

Ans

Comprehension:

2671 QAR 606 6RINGEI IERIOR FRRIG UIQ6R, 64 QIR G AFlIR 6RIR2EA Bl F6El FIRIQ G
Jéraledicl 6RIR Z6m | 64 62RQF Q9 6AINIE A1 2661R | 90.6. 64Rd GlF A8 IRERIRN AT
2§’ 6a 26Iae AGN6R 6RERY- ‘PE2IT6A ARIRIRYAIR AFIS AGYIR FIRI AIFIER 66 2RIQ 2RI
AR QIF Q& 621R8, 692 KPR IR 26EIRE AIFl 661N APRQ IR AgR 696N | ARGl 0IQ FITIR
adig BIF AIF 968 Al JRIAN | 917, BE Ie° AIRREA FIF FIRIRGIA BY 16Q gRI Aga] I

S1FAUR 6l 2IaAa Jid 100 8 J9Q 999 ARRER | GIE 16a I g2l 99AIQ QIR 626/ | 98 @F
Adig 6 GlgQE QI9ER AIRE KRR | 64 FIRFIRG A6 AP QE2ER I9° GIF F601g AR
SemA B QM AINER CARIRAF JQ 2IFCRAR Itq 96 2T QRgM | AIRIQ AFIE A6 69dIR
ORYRI e RO AR 6 QIAER AR AR ARYR ERIER BIF Q6! AEF GQZER | AIPR Xl 6L 641 I
ad el Pw 69g0g ARG1E, RAIEA 6ARIRLER | FLIRR 67600 JAIGR ZOQ FEIA6E 64 64K Q°6l
2107 9IQ 690168 NRJRIAQ 10 G2IR 62R2R! |

Q 98 §d 629 60 PLYUR 6RITER UM HNRQE 6AAITRY 2J6m, 62 6MERF- 69 AANER AQRALIER
QIQaRIF G 66T 26 Ne° B6EINOS AR AP0 QLIRS disl 610 YRR FQIYER | JOAI° AR
64101 @8 2P 2IRYQ g6 |

arig QAR G A QIR FLAIRS AIFIRIQY M Ie° Fiil &2l adig el a1 REER! | 189S 99r6a
QLU A6R A66IIR 12 FAIC AIFIRIR 2RISR 626/ | 62k ORE- g6 G GREI6R a9 2sig
g A AR Qe FEINQI Q6REH6R 64 GlF AFER PR @F6a @R! F6L 2IRF R6R | AR
Je QUeRER FRIRET, 6611001 G QY T FIIEA ARG AURY SR | ARG 6AIER §Q AR D0 RELR
QBejem; FIE 6EIT6Q QITE 264ID6R 62716 AQIY 626m | I8 g8 G AR Z6SIR FRg AR SQIQ
Q96R 6l AR 64 JF G S AN, AR AR QILI6R FIFQ QY TR | 64 6ARRR0IQ 2IQ Y&
AR @ Zem | @REIER 665N 6816 206l @91 gIF, AFIG AURS Bl ZRIAER Ml IQ° 6816 2°60g QL SRR
FIil Gl AF6R GQ A2 Ml | BY 6 6dYQ TG 6AEM| Q. &. 64RA ALY, 6466 AIFRR ATIS oM
Ol Qe6a A6dlia & QIR 6AIR 64 FIMIQ AR I8l 48 90 a6 |

SubQuestion No : 6
LgdR A6a @ 6614 @°61Q QIR 626m ?

X 1. gesi@
o 2.609d1Q
X 3.60Q1d09
X 4. 2eeq
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:
Chosen Option :

630680449217
6306801754003
6306801754002
6306801754005
6306801754004
Answered

2




Q.7

Ans

Comprehension:

267 QAR 606 6RINGE IERIORI FRRI UIQ6R, 64 QIR G AElIR 6RIRLEA B F66l FIRIQ G
géraledicl 6RIe Z6m | 64 62RQF QY 6AINIE A1 26619 | 90.6. 64Rd Gle @8 2IRERIRR AT
2§’ 6a 26Iae AGN6R 6RERY- ‘PO2IT6A ARIRIRYAIR AFIC AGYIR FIRI AIFIER 66 2RIQ 2RIQ
210 AIF g4 62108, 6d2 o6Q IRI 6EIRT AIF 6615\ AAE AR AgR 6AEIAN | ARG 0 AITIR
AdIg GIF RIF 969 GBI JRIAN | 61, PR0 I&° QIQE6R BIF FRINGIA BY 160 g8l agag I

SFAUR 6l 21aAQ JId 100 o8 JIQ 999 ARRER | GIE 16a I g2l QAR QIR 626/ | 98 @F
Adig 64 61gQE QI9ER AURE KRR | 64 FIRFIRG A6 AP QGRER I9° GIF F601g AR
SemA B AgF AINER CARARAF JQ 2IFERAF AItq 96 2T QREM | AIRIQ AEIE A6 69dIR
ORYRI e RO U8 6 QIAER AR AR ARYR ERIER BIF Q6! AEF GQZER | AIPR Xl 6L 641 I
ad el P® 60g09 QIAGTM, REIEA 6AIRIRZER | FRIAR 67609 JAIER ¢OQ @6I6e 64 6AldY a°6l
2107 QIQ 690160 IRRIA IO G2IR 62R2R! |

Q 98 §d 629 60 PLYUR 6RITER UM HNRQE 6AAITRY 2J6m, 62 6MERF- 64 AFANER AQRALIER
QIQRIF G 66T 26 Ne° B6EINOS FRR AP0 QRIRG! disl 610 YRR KQIYER | IO AR
64101 @8 2RPR 2IRYQ g6 |

arig QAR G A QIR FLAIRE AIFIRIQY M I9° Fiil &2 adig el A1 RV | 189S 99r6a
QLU A6Q A66IIR 12 FAIC AIFIRIR ZRIIAT 626/ | 62k ORE- GO G GREI6R a9 2sig
2gnQ A AR QO FEINQI Q6REH6R 64 GlF AFER PR @F6a @Re! F6 2IRF R6R | AR
Je QUeRER FRIRET, 6611901 G QY T FIIER ARG AIRY SR | ARG 6AIER §Q AR D0 REPR
@B2jem; g 6ET6Q QITE 264IT6R 62716 AQIY 626m | I8 g8 G AR Z6SIe FRg AR JIR
Q96R 6l AR 64 J8 G S AN, AR AR QII6R FIFa QY TR | 64 6ARRR0IQ 2IQ Y&
AR @ 2em | AREIER 66115\ 6816 2°6l @91 gIF, AFIG AURE BIF ZRIAER Ml IQ° 6216 2°60g QT AR
FIil Ol AF6R GQ A2 Ml | BY 6 6dYQ T 6AEM| Q. &. 64RA F2Y, 666 AIFRR AT g6
Ol Qe6a Asdlia & QAR 6AIR 64 FIMIQ AR I8l 48 90 a6 |

SubQuestion No : 7

G210Q gaIee gpg @61 REIA6S ?
&K 1. Q00 1R 60Q ARJR 6MIEH CIF QEll QL @QEEM
o 2. 66144 @°6 210 Q 69016a IRIRIA RIS BT 62Q2jMI
X 3. Qee1AI6R 9IQRIF G 6dleY6ge gem

X 4. Q6QR 6IER 7P F9g0Y A1 RAIER 6ARIRER

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

630680449218
6306801754008
6306801754009
6306801754006
6306801754007
Answered

2




Q.8

Ans

Comprehension:

2671 QAR 606 6RINGEI IERIOR FRRIG UIQ6R, 64 QIR G AFlIR 6RIR2EA Bl F6El FIRIQ G
Jéraledicl 6RIR Z6m | 64 62RQF Q9 6AINIE A1 2661R | 90.6. 64Rd GlF A8 IRERIRN AT
2§’ 6a 26Iae AGN6R 6RERY- ‘PE2IT6A ARIRIRYAIR AFIS AGYIR FIRI AIFIER 66 2RIQ 2RI
AR QIF Q& 621R8, 692 KPR IR 26EIRE AIFl 661N APRQ IR AgR 696N | ARGl 0IQ FITIR
adig BIF AIF 968 Al JRIAN | 917, BE Ie° AIRREA FIF FIRIRGIA BY 16Q gRI Aga] I

S1FAUR 6l 2IaAa Jid 100 8 J9Q 999 ARRER | GIE 16a I g2l 99AIQ QIR 626/ | 98 @F
Adig 6 GlgQE QI9ER AIRE KRR | 64 FIRFIRG A6 AP QE2ER I9° GIF F601g AR
SemA B QM AINER CARIRAF JQ 2IFCRAR Itq 96 2T QRgM | AIRIQ AFIE A6 69dIR
ORYRI e RO AR 6 QIAER AR AR ARYR ERIER BIF Q6! AEF GQZER | AIPR Xl 6L 641 I
ad el Pw 60g0Q QIAGTA, REIEA 6AIRIRLER | FRIAR 62609 JAIOR ¢OQ @66 64 6FldY Q76
2107 9IQ 690168 NRJRIAQ 10 G2IR 62R2R! |

Q 98 §d 629 60 PLYUR 6RITER UM HNRQE 6AAITRY 2J6m, 62 6MERF- 69 AANER AQRALIER
QIQaRIF G 66T 26 Ne° B6EINOS AR AP0 QLIRS disl 610 YRR FQIYER | JOAI° AR
64101 @8 2P 2IRYQ g6 |

arig QAR G A QIR FLAIRS AIFIRIQY M Ie° Fiil &2l adig el a1 REER! | 189S 99r6a
QLU A6R A66IIR 12 FAIC AIFIRIR 2RISR 626/ | 62k ORE- g6 G GREI6R a9 2sig
g A AR Qe FEINQI Q6REH6R 64 GlF AFER PR @F6a @R! F6L 2IRF R6R | AR
Je QUeRER FRIRET, 6611001 G QY T FIIEA ARG AURY SR | ARG 6AIER §Q AR D0 RELR
QBejem; FIE 6EIT6Q QITE 264ID6R 62716 AQIY 626m | I8 g8 G AR Z6SIR FRg AR SQIQ
Q96R 6l AR 64 JF G S AN, AR AR QILI6R FIFQ QY TR | 64 6ARRR0IQ 2IQ Y&
AR @ Zem | @REIER 665N 6816 206l @91 gIF, AFIG AURS Bl ZRIAER Ml IQ° 6816 2°60g QL SRR
FIil Gl AF6R GQ A2 Ml | BY 6 6dYQ TG 6AEM| Q. &. 64RA ALY, 6466 AIFRR ATIS oM
Ol Qe6a A6dlia & QIR 6AIR 64 FIMIQ AR I8l 48 90 a6 |

SubQuestion No : 8

QARG APERAR GI1EQ Q6 629 6MEH?
& 1. Qo0 §1ge
X 2. oher e
& 3. A9Ic 26611

X 4. Q09 QR

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

630680449215
6306801753997
6306801753996
6306801753995
6306801753994
Answered

3




Comprehension:

267 QAFIR 606 6RINGE IERIOR FRRIG UIQ6R, 64 QIR G AFlR 6RIR2EA YOI F66l FIRIQ G
Jéraledicl 6RIR Z6m | 62 62RQF Q9 6AINIE A1 26619 | 90.6. 64Rd OlF @8 RERIRR AT
2§’ 6a 26Iae AGN6R 6RERT- ‘PO2IT6A ARIRIRYAIR AFIC AGYIR FIRI AIFIER 66 2RIQ 2RIQ
210 AIF g4 62108, 6d2 Ro6Q IRI 6EIRT AIF 6615\ AAE AR AgR 6AEIAN | QREI O AIAIR
I GIF RIF 469 GBI JRIAN | 61, PR0 I&° QIQE6R BIF FRINGIA BY 160 g8l agag I

&FAR 6l 21aAa JId 100 o8 JIQ 999 ARRER | GIE 16a I g2l QIR QIR 626/ | 98 @F
Adig 6 6lgQE QIER AURE KRR | 64 FIRFING A6 AP QE2ER I9° GIF F601g AR
SemA B QA AINER CARARAF JQ 2IFERAF AIEq 96 2T QR | AIRIQ ACIE AFG 69dIR
ORYRI e RO 8B 6 QIAER AR AR ARYR ERIEH BIF Q6! AEF GQZER | AIPR Pl 6L 641 I
ad el P® 60g09 QIAG1A, REIEA 6AIRIRYER | FRIAR 67609 JAIOR ¢oQ @6I6e 64 6FldY Q76
2107 QIQ 690160 IRRIAQ IO G2IR 62ReM! |

Q 98 ¢ld 629 60 PLYUR 6RITER UM HNRQE 6AAITRY 2J6m, 62 6MERF- 69 AANER AARALIER
QIQRIF G 66T 26 Ne° B6EINO8 FRR AP0 QRIRG! disl 610 IRLIQ FQYER | IO AR
64101 @8 2RPR 2IRYQ g6 |

arig QAR G A QIR FLAIE AIFIRIRY M Ie° Fiil &2l adig el I REER! | 189S 99r6a
QLA A6Q 266IIR 12 FAIS AIFIRIR SRR 626/ | 62RIPI ORE- g9 G GREI6R AR 2sig
g A AR QO FEIRQI Q6REH6R 64 GlF AFER PR @F6a @R! F6 2IRF K6R | AR
Je QUeRER FRIRET, 661Q1001 G QY AT FIIER ARG QAURY SR | ARG 6AIER §Q AR 80 REFR
@Bejem; FIE 6EIT6Q QITE 264IT6R 62716 AQIY 626m | I8 GO G ALY Z6SIe FRg AR SIa
Q96R 6l AR 64 JF G S AN, AR AR QILI6R FIFQ QY TR | 60 6ARRR0IQ 2IQ L&
AR @ 2em | AREIER 665N 6816 2°6l @91 gIF, AFIG AURE B ZRIIAER Ml IQ° 6816 2°60g QT SRR
FIYl Gl AF6R GQ A2 Ml | BY 6d 6dYQ TG 6AEM| Q. &. 64RA F2F, 666 AIFRR AT oM
Ol Qe6a Asdlia & QAR 6AIR 64 FIMIQ AR I8l 48 90 aRlem |

SubQuestion No : 9
Q.9 62 ALIQ B geraledisl ARIC® 2l 2RISR FAUAIRE ?
Ans X 1. @d6pQ60Q
X 2.99Q1Q
X 3.09qQ 6elldy
o 4. 266l

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

630680449216
6306801754001
6306801753999
6306801753998
6306801754000
Answered

4

Q.10 684 QIF AFRIA YIRER ACCIRR ACNER &'6l 6MERF ?

Ans o 1. AICER QEIQ FIRE FIEA A6dlia & IRAIE RIS 64 QOAIR AR I8l I8 90 @R |
X 2. 26619 & IRAIQ 6MIR 64 6AIQ IS ARLEM |
X 3. 2edlla @66l 61IQTL, ACS 2J6m |
K 4. 266IR 26QT GO @RRg6M |

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

630680449225
6306801754032
6306801754031
6306801754033
6306801754030
Answered

1

Section : Part 1 General Knowledge and Current Affairs




Q1 Which of the following is NOT correct about censure motion?

Ans

X 1. Reasons for its adoption in Lok Sabha must be stated.
X 2. It can only be adopted in Lok Sabha.

o 3.
If passed in Lok Sabha, council of ministers has to resign from Office.
x 4.
It can be moved against an individual minister or a group of ministers.
Question ID
Option 11D :
Option 21D :
Option 3 ID
Option 4 ID
Status :
Chosen Option :

: 630680449233
6306801754062
6306801754064
: 6306801754065
: 6306801754063
Not Answered

Q2 Which of the following is NOT among Sustainable Development Goals?

Ans

X 1. Zero Hunger
X 2. No Poverty
X 3. Gender Equality

« 4 Smart Cities

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680449235
6306801754071
6306801754070
6306801754073
6306801754072
Answered

4

Q3 WWhat is the rank of India in Climate Change Performance Index 20237

Ans 1 gth
X 2. 5th
X 3. 115‘[
~< 4. l[}th

Question ID :
Option 11D :
Option 21D :
Option31D:
Option 41D :
Status:

Chosen Option :

630680449227
6306801754040
6306801754039
6306801754038
6306801754041
Not Answered




Q4 Who among the following founded “The Servants of India Society™?

Ans

X 1. Shyama Krishna Verma
+ 2. Gopal Krishna Gokhale
X 3. Bal Gangadhar Tilak

X 4. Lala Lajpat Rai

Question ID : 630680449229
Option 11D : 6306801754048
Option 2 ID : 6306801754046
Option 3 ID : 6306801754047
Option 4 1D : 6306801754049
Status : Answered
Chosen Option : 2
Q.5 Odisha was divided into three administrative units under British administration. "Province of Cuttack’ was under which
presidency during early 19t century?
Ans 1. Bengal Presidency
X 2. Madras Presidency
X 3. Central Presidency
X 4. Bihar Presidency
Question ID : 630680449230
Option 11D : 6306801754051
Option 2 1D : 6306801754050
Option 31D : 6306801754052
Option 4 1D : 6306801754053
Status : Not Answered
Chosen Option : --
@6 Which of the following is related to “Silver Revolution™?
Ans X 1. Silver production
X 2. Milk production
+ 3. Poultry and egg production
X 4. Fish production
Question ID : 630680449232
Option 11D : 6306801754060
Option 2 ID : 6306801754061
Option 31D : 6306801754059
Option 4 ID : 6306801754058
Status : Answered

Chosen Option: 3




Q.7  Amit lives in a country which does not share land boundary with India. Which among following can be Amit’s country?

Ans X 1. China
X 2. Nepal
X 3. Myanmar
+ 4. Tajikistan
Question ID : 630680449231
Option 11D : 6306801754056
Option 2 ID : 6306801754054
Option 31D : 6306801754055
Option 4 ID : 6306801754057
Status : Answered
Chosen Option : 4
Q@8 BRICS Summit 2023 was held at which of the following place?
Ans X 1. Beijing
X 2. Rio de Jenrio
+ 3. Johannesburg
X 4. New Delhi
Question ID : 630680449226
Option 11D : 6306801754035
Option 2 ID : 6306801754037
Option 31D : 6306801754034
Option 4 ID : 6306801754036
Status : Answered
Chosen Option : 4
Q.9 “Nutrition at Doorsteps’ will be launched in how many districts of Odisha state?
Ans X 1. 28
X2 2]
X3 10
¥ 4. 30
Question ID : 630680449228
Option 11D : 6306801754044
Option 2 ID : 6306801754043
Option 31D : 6306801754042
Option 4 ID : 6306801754045
Status : Not Answered
Chosen Option : --




Q.10 Which among the following enzyme is responsible for breaking down of emulsified fats?

Ans

« 1. Lipase
X 2. Bile juice
X 3. Amylase
X 4. Trypsin

Question ID : 630680449234

Option 11D : 6306801754069
Option 2 1D : 6306801754066
Option 31D : 6306801754067
Option 4 1D : 6306801754068

Not Attempted and
Marked For Review

Chosen Option : --

Status:

Section : Part 1 Reasoning Ability

Q.1 IfFAIR becomes FATS and NICE becomes NIDF. What GOOD will become in the same manner?
Ans X 1. GOEP

X 2. GOPD
X 3. GODP
¥ 4 GOPE

Question ID : 630680449239
Option 11D : 6306801754086
Option 2 1D : 6306801754088
Option 31D : 6306801754089
Option 4 1D : 6306801754087
Status : Answered
Chosen Option : 4

Q2 What will come in the place of question mark to make it logically complete?

3,10, 15,20,25,2
Ans X' 1. 35

& 2. 30

X3 25

X 4. 45

Question ID : 630680449245
Option 11D : 6306801754111
Option 2 1D : 6306801754110
Option 31D : 6306801754112
Option 41D : 6306801754113
Status : Answered
Chosen Option : 2




Q3 YWhat will come in place of question mark?

LK, N,RW?
Ans X1 E
X2 F
X3 D
4 C
Question ID : 630680449238
Option 11D : 6306801754084
Option 2 ID : 6306801754085
Option 31D : 6306801754083
Option 4 ID : 6306801754082
Status : Answered
Chosen Option : 4
Q.4 Five girls Praveena, Nadira, Reshma, Shailja and Tanuja are sitting in a row facing north. Shailja is between Tanuja and
Nadira and Nadira is to the immediate left of Reshma. Praveena is to the immediate left of Tanuja. Who is sitting on the
immediate left-hand side of Shailja?
Ans X' 1. Praveena
< 2. Reshma
+ 3. Tanuja
X 4 Nadira
Question ID : 630680449236
Option 11D : 6306801754075
Option 2 ID : 6306801754077
Option 31D : 6306801754074
Option 4 ID : 6306801754076
Status : Answered
Chosen Option: 3

Q5 Which of the following four options embeds the original figure X?

N

0

(0,9] (1) (¥3] (3) C)
Ans &1 3

X2 2

<31

x4 4
Question ID : 630680449243
Option 11D : 6306801754104
Option 2 ID : 6306801754103
Option 31D : 6306801754102
Option 4 ID : 6306801754105

Status : Answered
Chosen Option : 1




Q.6 Read the given statement(s) and conclusions carefully. Assuming that the information given in the statements is true.

even if it appears to be at variance with commonly known facts. decide which of the given conclusions logically
follow(s) from the statement(s).

Statements:

All sodium are bonds.
Some bonds are titanium.
Conclusions:

1. No titanium is bonds.

2. Some titanium is bonds.

Ans X' 1. Both 1 and 2 follow

X 2. Only conclusion 1 follows

X 3. Neither 1 nor 2 follows

+ 4. Only conclusion 2 follows

Question ID : 630680449241
Option 11D : 6306801754096
Option 2 ID : 6306801754094
Option 3 ID : 6306801754097
Option 4 ID : 6306801754095
Status : Answered
Chosen Option : 4

Q.7  What will come in the place of question mark (on the body parts and their constituent)
Keratin : Hair :: Enamel : ?
Ans X 1. Bones
+ 2. Teeth
X 3. Nails
X 4 Muscles

Question ID : 630680449242
Option 11D : 6306801754099
Option 2 1D : 6306801754098
Option 31D : 6306801754100
Option 4 1D : 6306801754101
Status : Not Answered
Chosen Option : --

Q8 W means ‘+', X means '-' Y means ‘*' and Z means ‘+’, then

I0Y5S5W4X 16Z24=7
Ans 1. G0

X2 30

X 3. 40

« 4 50

Question ID : 630680449244
Option 11D : 6306801754109
Option 21D : 6306801754106
Option 31D : 6306801754107
Option 41D : 6306801754108
Status : Answered
Chosen Option : 4




Q.9 Rajan ranks 18th from the top and 28th from the bottom in a group of students. How many students are there in the

group?
Ans X 1.52
X 2.42
X 3.47
o 4.45
Question ID : 630680449237
Option 11D : 6306801754081
Option 2 ID : 6306801754078
Option 31D : 6306801754080
Option 4 ID : 6306801754079
Status : Answered
Chosen Option : 4
Q.10 How is the father of Sunil's grandmother's only daughter's son related to Sunil's mother?
Ans X' 1. Uncle
X 2. Brother
+ 3. Husband
X 4. father in law
Question ID : 630680449240
Option 11D : 6306801754093
Option 2 1D : 6306801754091
Option 31D : 6306801754090
Option 4 ID : 6306801754092
Status : Answered
Chosen Option: 3
Section : Part 1 Computer Literacy
Q@1 What does "HTML" stand for in the context of web development?
Ans X 1. Hyperlink Text Markup Language
X 2. Human Technology Master List
X 3. High-Tech Multimedia Language
« 4 Hypertext Markup Language
Question ID : 630680449249
Option 11D : 6306801754127
Option 2 ID : 6306801754128
Option 31D : 6306801754126
Option 4 ID : 6306801754129
Status : Answered
Chosen Option : 4




Q.2 What does "PNR" represent when booking train tickets in the context of ICT-enabled railway reservation?

Ans

X 1. Payment Notification Request
X 2. Passenger Notification Record
+ 3. Passenger Name Record

X 4. Personalized Navigation Route

Question ID : 630680449246
Option 11D : 6306801754117
Option 21D : 6306801754114
Option 31D : 6306801754116
Option 41D : 6306801754115
Status : Answered
Chosen Option : 3
Q.3 Which type of memory is the fastest but also the smallest and most expensive in a computer?
Ans X 1. USB Flash Drive
X 2. ROM
X 3. HDD
o 4 RAM
Question ID : 630680449247
Option 11D : 6306801754121
Option 21D : 6306801754119
Option 31D : 6306801754120
Option 4 1D : 6306801754118
Status : Answered
Chosen Option : 4
Q4 What does "HDMI" stand for when connecting displays to a computer?
Ans X 1. Home Digital Monitor Interface
/< 2. Hybrid Display Mode Indicator
X 3. High-DPI Matrix Integration
+ 4. High-Definition Multimedia Interface
Question ID : 630680449250
Option 11D : 6306801754133
Option 21D : 6306801754131
Option 31D : 6306801754132
Option 4 1D : 6306801754130
Status : Not Answered

Chosen Option :




Q.5 Which computer pioneer is known for her work on the world's first compiler, the COBOL programming language, and
the concept of machine-independent programming?
Ans X 1. John von Neumann

« 2. Grace Hopper
X 3. Alan Turing
X 4. Ada Lovelace

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

630680449248
6306801754125
6306801754123
6306801754124
6306801754122
Not Answered

Section : Part 1 Child Development Learning Curriculum and Assessment

Q.1 Which of the following is a key aspect of effective classroom communication?
Ans 1. Actively listening to student responses

X 2. Using complex vocabulary always

X 3. Speaking very quickly to cover more content

X 4. Avoiding eye contact with students

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680449262
6306801754178
6306801754179
6306801754181
6306801754180
Answered

1

Q2 In which approach can assessment of individual contributions be a challenge?
Ans 1. Collaborative learning
X 2. Lecture-based learning
X 3. Experiential learning

X 4. Problem-based learning

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680449265
6306801754193
6306801754192
6306801754191
6306801754190
Answered

2




Q.3 In the context of inclusive education, what does 'Universal Design for Learning' (UDL) emphasize?

Ans X 1. Using a one-size-fits-all approach to teaching.

X 2. Designing curriculum only for students with disabilities.

X 3. Implementing standardized testing for all students.

& 4
Designing learning experiences so they are accessible to all students.

Question ID : 630680449257
Option 11D : 6306801754158
Option 21D : 6306801754160
Option 31D : 6306801754159
Option 41D : 6306801754161
Status : Answered
Chosen Option : 4

Q.4 Which approach emphasizes student’s active participation in their learning experiences during curriculum development?

Ans 1 Learner-centered approach

X 2. Subject-centered approach
X 3. Teacher-centered approach

X 4. Administration-centered approach

Question ID : 630680449261
Option 11D : 6306801754177
Option 2 ID : 6306801754175
Option 31D : 6306801754176
Option 4 ID : 6306801754174
Status : Answered
Chosen Option: 1

Q.5 What can hinder the learning process due to reduced cognitive capacity and physical energy?

Ans X 1. Organization of materials

X 2. Materials
X 3. Reinforcement
« 4. Fatigue

Question ID : 630680449254
Option 11D : 6306801754149
Option 2 1D : 6306801754147
Option 31D : 6306801754148
Option 4 1D : 6306801754146
Status : Answered
Chosen Option: 3




Q.6 gog 0nd e4Ece SMITRINE TGS, Tlgle ¥6° MG 205a AGEaEe aF2M, S OFIeR sUIREa UGE

Ans

eragedy goa eeaala?

X ggedic aad
v 2. SRIeN-6a59
X 3. QIG-EaEe

X4 GEP-6R50
Question ID : 630680449264
Option 11D : 6306801754187
Option 2 ID : 6306801754188
Option 3 ID : 6306801754186
Option 4 ID : 6306801754189
Status : Answered
Chosen Option : 2
Q.7 ILearning that involves drawing conclusions based on events that have already occurred is primarily through:
Ans X 1. Imitation
X 2. Observation
« 3. Experience
X 4. Experimentation
Question ID : 630680449256
Option 11D : 6306801754155
Option 2 ID : 6306801754157
Option 31D : 6306801754156
Option 4 ID : 6306801754154
Status : Answered
Chosen Option: 3
Q.8 1In terms of cognitive development, what ability typically emerges in childhood?
Ans X 1.Reflex responses
< 2. Subjective reasoning
/5 3. Deductive reasoning
«" 4. Egocentrism
Question ID : 630680449251
Option 11D : 6306801754137
Option 2 ID : 6306801754136
Option 3 ID : 6306801754134
Option 4 ID : 6306801754135
Status : Answered
Chosen Option : 4




Q9 1 earning is most effective when it is:

Ans X 1. Forced and repetitive
X 2. Done in isolation
« 3. Relevant and meaningful

X 4. Taught once without repetition

Question ID : 630680449253
Option 11D : 6306801754144
Option 2 1D : 6306801754143
Option 31D : 6306801754145
Option 4 1D : 6306801754142
Status : Answered
Chosen Option: 3

Q.10 The principle that ensures that the curriculum remains relevant and useful for the current needs of society is known as:

Ans X 1. Variety
X 2. Flexibility
v 3. Utility
X 4. Integration

Question ID : 630680449260
Option 11D : 6306801754173
Option 21D : 6306801754170
Option 31D : 6306801754172
Option 41D : 6306801754171
Status : Answered
Chosen Option : 2

@11 Which of the following is NOT a feature of inclusive education?

Ans X 1. Promoting diversity and acceptance.
« 2. Keeping students with disabilities in separate classrooms.
X 3. Individualized support based on need.

X 4. Differentiation in teaching methods.

Question ID : 630680449258
Option 11D : 6306801754164
Option 21D : 6306801754162
Option 31D : 6306801754163
Option 4 1D : 6306801754165
Status : Answered
Chosen Option : 2




Q.12 Which organization is primarily responsible for monitoring the implementation of the CRC?

Ans X 1. UNHRC
&< 2. UNESCO
< 3. WHO
« 4 UNICEF
Question ID : 630680449259
Option 11D : 6306801754168
Option 2 ID : 6306801754166
Option 31D : 6306801754169
Option 4 ID : 6306801754167
Status : Not Answered
Chosen Option : --
Q.13 I terms of cognitive development, what typically happens in early adolescence?
Ans 1. Development of abstract thinking
X 2. Lack of problem-solving skills
X 3. Dependence on concrete experiences
X 4. Reliance on sensory-motor actions
Question ID : 630680449252
Option 11D : 6306801754140
Option 21D : 6306801754138
Option 31D : 6306801754139
Option 41D : 6306801754141
Status : Answered
Chosen Option : 1
Q.14 When a teacher removes a previously provided positive reinforcement to decrease an undesirable behavior, it is known a
Ans X 1. Negative reinforcement
+ 2. Extinction
A 3. Punishment
X 4. Equivalent reinforcement
Question ID : 630680449263
Option 11D : 6306801754184
Option 2 ID : 6306801754183
Option 31D : 6306801754182
Option 4 ID : 6306801754185
Status : Answered
Chosen Option : 4




Q.15 Effective teacher behaviour that promotes a positive learning environment includes:

Ans 1. Being approachable and open to questions

X 2. Ignoring student queries
X 3. Always being the center of attention

X 4. Encouraging competition over collaboration

Question ID : 630680449255
Option 11D : 6306801754151
Option 2 1D : 6306801754150
Option 31D : 6306801754152
Option 41D : 6306801754153
Status : Answered
Chosen Option : 1

Section : Part Il Subject Contents

Q.1 Inthe given figure lines LP and MQ are parallel to each other. ABCD is a transversal. If ~ABP = 75 degrees, then what

is the value of ZACM?
A

L B ,p

M c Q

Ans X 1. 90 degrees
X 2. 75 degrees
X 3. 85 degrees
« 4. 105 degrees

Question ID : 630680449274
Option 11D : 6306801754228
Option 2 ID : 6306801754227
Option 31D : 6306801754229
Option 4 1D : 6306801754226
Status : Answered
Chosen Option : 4

Q.2 : 1 1
What is the value of =% = 2** 9
1—x2 1—x%

Ans @1 ] +42
X 2. l_xz
X3 1-x
X4 l+x

Question ID : 630680449269
Option 11D : 6306801754206
Option 2 1D : 6306801754208
Option 31D : 6306801754209
Option 4 1D : 6306801754207
Status : Answered
Chosen Option: 1




Q.3

Ans 1. 2314 _ 52

X3 §512_ 4
X 4. 516 _ o3

What is the value of 422 + 1)(2* + (28 + )21 + 1).... (2128 + (2256 + 1)?

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status

Chosen Option :

630680449270

6306801754210
6306801754212
6306801754211
6306801754213

: Not Answered

Q.4 160 litres of a mixture contains 75 percent milk and remaining water. What more quantity of water must be added to the

mixture to make the quantity of water as 40 percent in the resulting mixture?

Ans X 1. 60 litres
+ 2. 40 litres
X 3. 50 litres
X 4. 30 litres

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status

Chosen Option :

630680449272

6306801754221
6306801754219
6306801754220
6306801754218

: Answered

2

Q.5

A K134 245
X2 2445
X3 2+345
V43445

What is the positive square root of 14 + 657

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680449271
6306801754217
6306801754214
6306801754216
6306801754215
Not Answered




Q.6 ABC is an isosceles triangle and AB = AC = 50 cm. If BC = 80 cm, then what is the value of the altitude from A on BC?

Ans X' 1. 40 cm
X2 50 cm
X 3 60 cm
¥4 30 cm
Question ID : 630680449275
Option 11D : 6306801754231
Option 2 ID : 6306801754232
Option 31D : 6306801754233
Option 4 ID : 6306801754230
Status : Answered
Chosen Option: 4
Q7 ¢ pix) = 3x2'y2 #+ ?Xzy + 6x% + 2y2 + 7. then what is the coefficient of x%in p(x)?
Ans X1 2
X2 7
<33
o4 6
Question ID : 630680449268
Option 11D : 6306801754204
Option 2 ID : 6306801754203
Option 3 ID : 6306801754202
Option 4 ID : 6306801754205
Status : Answered
Chosen Option : 2
Q.8 i s
310 4311 - 3124 313 5 givisible by :
Ans X' 1. 110
X2 50
X3 70
« 4 40
Question ID : 630680449267
Option 11D : 6306801754201
Option 2 ID : 6306801754199
Option 31D : 6306801754198
Option 4 ID : 6306801754200
Status : Not Answered

Chosen Option :




Q.9

Ans 1. g
X212
X3 16
4 13

How many composite numbers are there from 1 to 237

Question ID : 630680449266
Option 11D : 6306801754197

Option 2 ID : 6306801754196
Option 31D : 6306801754194
Option 4 ID : 6306801754195
Status : Answered
Chosen Option: 4
Q.10 The side of an equilateral triangle is 24 cm. What is the radius of the circle circumscribing this equilateral triangle?
Ans -
X173 cm
v 2 83 em
X3 56 cm
X4 82 em
Question ID : 630680449276
Option 11D : 6306801754235
Option 21D : 6306801754236
Option 31D : 6306801754234
Option 41D : 6306801754237
Status : Not Answered
Chosen Option : --
Q.11 If the perimeter of a rhombus is 180 em and one of its diagonal is 72 cm, then what is the area of the rhombus?
Ans -
X 11720 cm?
X2 2134 cm?
3 1044 cm?
X 4 1680 cm?
Question ID : 630680449277
Option 11D : 6306801754241
Option 2 ID : 6306801754239
Option 31D : 6306801754240
Option 4 ID : 6306801754238
Status : Answered
Chosen Option: 3




Q.12

interest of Rs. 6600. What will be the annual rate of interest at which Rajeev invested his money?

Ans 1. 15 percent
# 2. 10 percent
X 3. 17.5 percent

« 4. 20 percent

Rajeev invested Rs. 15000 for 2 years at compound interest (compounded annually) in a company which paid him

Question ID :

Option 11D

Option 21D :

Option 3 ID

Option 41D :

Status

Chosen Option :

630680449273

: 6306801754224
6306801754225
: 6306801754222
6306801754223
: Not Answered

@13 How many valence electrons does an atom of oxygen (O) have?

Chosen Option :

Ans X158
K24
K32
&4 6
Question ID : 630680449280
Option 11D : 6306801754253
Option 2 ID : 6306801754251
Option 3 ID : 6306801754250
Option 4 ID : 6306801754252
Status : Answered
Chosen Option: 3
Q14 YWhich of the following is a salt?
Ans 5 1. Milk (Lactic acid - C3H603)
+ 2. Baking soda (Sodium bicarbonate - NaHCO3)
# 3. Lemon juice (Citric acid - C6H8O7)
X 4. Vinegar (Acetic acid - CH3COOH)
Question ID : 630680449289
Option 11D : 6306801754289
Option 2 ID : 6306801754286
Option 3 ID : 6306801754288
Option 4 ID : 6306801754287
Status : Answered

2




Q.15

Ans

Which of the following is a unit of work?
X 1. Watt (W)

X 2. Volt (V)

« 3. Joule (I)

X 4. Newton (N)

Chosen Option :

Question ID : 630680449284
Option 11D : 6306801754266
Option 21D : 6306801754269
Option 31D : 6306801754267
Option 41D : 6306801754268
Status : Answered
Chosen Option: 3
Q.16 Which of the following statements is true about the angle of incidence and the angle of reflection?
Ans X 1. The angle of reflection is always greater
X 2. The angle of incidence is always greater
+ 3. They are always equal
X 4. They are unrelated
Question ID : 630680449285
Option 11D : 6306801754271
Option 21D : 6306801754272
Option 31D : 6306801754270
Option 41D : 6306801754273
Status : Answered
Chosen Option : 3
Q17 WWhich of the following is a strong base?
Ans X 1. Ammonium hydroxide (NH4OH)
+ 2. Sodium hydroxide (NaOH)
X 3. Calcium hydroxide (Ca(OH)2)
X 4. Magnesium hydroxide (Mg(OH)2)
Question ID : 630680449282
Option 11D : 6306801754259
Option 21D : 6306801754258
Option 31D : 6306801754260
Option 41D : 6306801754261
Status : Not Answered




Q18 wWhich of these elements is not a metal?

Ans % 1. Mercury (Hg)
X 2. Gold (Au)
X 3. Silver (Ag)
« 4. Carbon (C)

Question ID : 630680449287
Option 11D : 6306801754279
Option 2 ID : 6306801754281
Option 3 ID : 6306801754278
Option 4 ID : 6306801754280
Status : Answered
Chosen Option: 4
Q.19 How many oxygen atoms are there in one molecule of carbon dioxide (C05)?
Ans X113
w2 2
X3 4
X4 1
Question ID : 630680449281
Option 11D : 6306801754256
Option 2 ID : 6306801754255
Option 3 ID : 6306801754257
Option 4 ID : 6306801754254
Status : Answered
Chosen Option : 2
Q.20 When an object floats in a liquid, what can be said about the density of the abject compared to the density of the liquid?
Ans 1. Object's density is less than the liquid's density
X 2. Object's density has no relation to the liquid's density
X 3. Object's density is greater than the liquid's density
X 4. Object's density is equal to the liquid's density
Question ID : 630680449283
Option 11D : 6306801754262
Option 2 ID : 6306801754265
Option 3 ID : 6306801754263
Option 4 ID : 6306801754264
Status : Answered

Chosen Option :

1




Q.21

Which of the following is a compound?

Chosen Option

Ans X 1. Oxygen (02)
X 2. Carbon (C)
X 3. Hydrogen (H)
« 4. Sodium chloride (NaCl)
Question ID : 630680449279
Option 11D : 6306801754247
Option 21D : 6306801754248
Option 31D : 6306801754246
Option 4D : 6306801754249
Status : Answered
Chosen Option: 1
Q22 wWhich of the following elements is a metalloid?
Ans 7 1. Boron (B)
X 2. Neon (Ne)
X 3. Chlorine (Cl)
X 4. Oxygen (O)
Question ID : 630680449278
Option 11D : 6306801754243
Option 21D : 6306801754245
Option 31D : 6306801754244
Option 41D : 6306801754242
Status : Answered
Chosen Option : 1
Q23 Which planet is closest to the Sun in our solar system?
Ans X 1. Earth
« 2. Mercury
X 3. Venus
X 4 Mars
Question ID : 630680449286
Option 11D : 6306801754276
Option 21D : 6306801754275
Option 31D : 6306801754274
Option 41D : 6306801754277
Status : Answered

12




Q.24 A molecule of oxygen (0,) consists of how many atoms of oxygen?

Ans

X1 1
X2 3
X3 4
sS4 2

Question ID

Option 2 ID

Option 4 ID

1 630680449288
Option 11D :

6306801754282

1 6306801754284
Option 31D :

6306801754285

: 6306801754283
Status:
Chosen Option :

Not Answered

Q25 1p the context of cell structure, what does "Plasma Membrane" represent?

Ans

# 1. Plasmatic Molecule
& 2. Permeable Membrane
+ 3. Phospholipid Bilayer

X 4. Protective Membrane Assembly

Question ID
Option 11D
Option 2 ID
Option 3 ID
Option 4 ID

Status

1 630680449296
1 6306801754315
1 6306801754317
1 6306801754316
1 6306801754314
: Answered
Chosen Option :

2

Q26 1p the context of adolescence, what does the acronym "AAP" stand for?

Ans

« 1. American Academy of Paediatrics
X 2. Adolescent Anxiety Prevention

X 3. Adolescent Adjustment Program
X 4. Adolescent Activity Planner

Question ID :
Option 11D :
Option 21D :
Option 31D :

Option 4 ID
Status :
Chosen Option :

630680449301

6306801754336
6306801754337
6306801754334

1 6306801754335

Not Answered




Q.27 What is the product of respiration in muscles that can lead to muscle soreness during strenuous exercise?

Ans X 1. Glucose

# 2. Carbon dioxide
« 3. Lactic acid
X 4. Haemoglobin

Question ID : 630680449293
Option 11D : 6306801754303
Option 2 ID : 6306801754305
Option 3 ID : 6306801754302
Option 4 ID : 6306801754304
Status : Answered
Chosen Option : 3
Q28 YWhat is an example of a behavioural adaptation in animals?
Ans X 1. Developing a strong immune system
X 2. Changing fur colour with the seasons
X 3. Growing a longer tail
+ 4. Migrating to warmer climates during winter
Question ID : 630680449291
Option 11D : 6306801754297
Option 2 ID : 6306801754296
Option 3 ID : 6306801754294
Option 4 ID : 6306801754295
Status : Answered
Chosen Option : 4
Q29 wWhat do microorganisms called algae primarily contribute to in ecosystems?
Ans X 1. Antibiotic production
X 2. Food spoilage
X 3. Soil decomposition
« 4. Oxygen production
Question ID : 630680449298
Option 11D : 6306801754324
Option 2 ID : 6306801754325
Option 3 ID : 6306801754322
Option 4 ID : 6306801754323

Status : Answered
Chosen Option : 4




Q30 What is the primary role of microorganisms in the process of fermentation?

Ans

X 1. Generating nuclear energy
X 2. Producing electricity

« 3. Making bread rise

X 4. Controlling weather patterns

Question ID : 630680449299
Option 11D : 6306801754329
Option 2 ID : 6306801754327
Option 31D : 6306801754326
Option 4 1D : 6306801754328
Status : Answered
Chosen Option: 3
Q.31 What does the acronym "ETC" represent in the context of cellular respiration?
Ans X 1. Energetic Tissue Conversion
« 2. Electron Transport Chain
X 3. Excessive Temperature Control
X 4. Energy Transfer Consortium
Question ID : 630680449292
Option 11D : 6306801754299
Option 2 ID : 6306801754298
Option 31D : 6306801754300
Option 4 1D : 6306801754301
Status : Not Answered
Chosen Option : --
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Question ID : 630680449295
Option 11D : 6306801754310
Option 21D : 6306801754313
Option 31D : 6306801754312
Option 4 1D : 6306801754311
Status : Answered
Chosen Option: 4




Q.33 What is the meaning of the acronym "CAM" when studying adaptation in plants?
Ans X 1. Chlorophyll Activation Method

« 2. Crassulacean Acid Metabolism

X 3. Controlled Adaptation Mechanism
X 4. Cellular Adaptation Module

Option 11D

Option 3 ID

Question ID :

630680449290

1 6306801754291
Option 21D :

6306801754292

: 6306801754290
Option 41D :
Status:

Chosen Option :

6306801754293
Not Answered

Q34 YWhat is the meaning of the acronym "C/N ratio" in soil analysis?

Ans X 1. Concentration to Nitrogen
« 2. Carbon to Nitrogen Ratio
X 3. Crop Nutrition Rate

X 4. Calcium to Nutrient Ratio

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680449294
6306801754306
6306801754307
6306801754309
6306801754308
Not Answered

Q.35 During adolescence, what is the process that leads to the development of secondary sexual characteristics in both males
and females?

Ans 1. Puberty
X 2. Senescence
X 3. Cognitive development
X 4. Infancy

Question ID

Option 31D :
Option 4 ID
Status:

Chosen Option :

: 630680449300
Option 11D :
Option 21D :

6306801754332
6306801754331
6306801754330

: 6306801754333

Answered
1




Q.36 Which organelle contains enzymes for intracellular digestion and waste removal?

Ans

+ 1. Lysosome

X 2. Nucleus
# 3. Vacuole
# 4. Ribosome

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

630680449297
6306801754320
6306801754319
6306801754321
6306801754318
Answered

1

Section : Part Il Pedagogy

Q.1 Inwhich of the following method of teaching mathematics. a learner proceeds from general to particular and abstract to
concrete?
Ans X 1. Inductive method
X 2. Synthetic method
+ 3. Deductive method
X 4. Analytic method
Question ID : 630680449305
Option 11D : 6306801754353
Option 2 ID : 6306801754352
Option 31D : 6306801754350
Option 4 ID : 6306801754351
Status : Answered
Chosen Option : 3
02 — — Ay — — — 5
QEMES F1RIG ERPE' APEOME SRS QR 2ABE AUl EISE' ?
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X 4 gels @59l
Question ID : 630680449306
Option 11D : 6306801754356
Option 2 ID : 6306801754355
Option 31D : 6306801754354
Option 4 ID : 6306801754357
Status : Answered
Chosen Option: 4




Q.3  Which aim of mathematics pertains to develop individuals to take up specialized courses having application of

Ans

mathematics i.e. engineering, accounting, banking etc.?

X 1. Cultural aim

X 2. Social aim

+ 3. Vocational aim
X 4. Moral aim

Question ID : 630680449302
Option 11D : 6306801754339
Option 21D : 6306801754340
Option 31D : 6306801754338
Option 4 1D : 6306801754341
Status : Answered
Chosen Option: 3
Q4  Mathematics is the study of structures and the word structure means what?
I Arrangement
II. Composition
III. Configuration
Ans % 1. Only II and III
X 2. Only I and ITI
« 3 I, 11 and III
X 4. Only Iand II
Question ID : 630680449304
Option 11D : 6306801754347
Option 21D : 6306801754348
Option 3 1D : 6306801754349
Option 4 1D : 6306801754346
Status : Marked For Review
Chosen Option: 3
Q.5 Which of the following are the purposes of question bank, a tool for evaluation?
L. It is useful to prepare a test for instant testing of the learners
II. The learners can also self-evaluate themselves by using the question bank
Ans

X 1. Only I

< 2. Neither I nor IT
+ 3. BothI and IT
X 4 Only I

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680449309

6306801754366
6306801754369
6306801754368
6306801754367

Status : Answered
Chosen Option: 3




Q.6  As per the taxonomy of educational objectives, which of the following educational objective comes under the affective

Ans

domain by Krathwohl, Bloom, Masia (1973)?
X 1. Application

X 2. Analysis

« 3. Organization

X 4. Comprehension

Question ID :

Option 11D

Status
Chosen Option

630680449303

1 6306801754344
Option 21D :
Option 31D :
Option 41D :

6306801754345
6306801754342
6306801754343

: Answered
03

Q.7 Which of the following is correct regarding the enrichment activities in mathematics?

Ans

I. The activities involve higher order thinking

II. As per as possible open ended items may be given as enriched activities for the students

X 1. Only II

X 2. Neither I nor IT
+ 3. BothIandII

X 4 OnlyI
Question ID : 630680449308
Option 11D : 6306801754363
Option 2 ID : 6306801754365
Option 31D : 6306801754364
Option 4 ID : 6306801754362

Status : Answered
Chosen Option : 3
Q.8 Inthe context of role of teacher in the constructivist approach of teaching learning mathematics, which among the
following first stressed on the importance of the social sefting?
Ans % 1. C.R Rogers

< 2. Mahatma Gandhi

« 3. Lev Vygotsky

X 4. Jean Piaget
Question ID : 630680449307
Option 11D : 6306801754360
Option 21D : 6306801754361
Option 31D : 6306801754358
Option 4 ID : 6306801754359

Status : Answered
Chosen Option: 3
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:
o1

Chosen Option

630680449313
6306801754383
6306801754382
6306801754385
6306801754384
Answered

Q.10 Onpe of the main aims of teaching science at the upper primary stage is to develop:

Ans X 1. The skill to argue against scientific theories.
X 2. The ability to pass exams.
X 3. Mastery over scientific jargon
« 4. A scientific temper.
Question ID : 630680449314
Option 11D : 6306801754387
Option 21D : 6306801754386
Option 31D : 6306801754389
Option 41D : 6306801754388
Status : Answered
Chosen Option : 3
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

630680449312
6306801754378
6306801754379
6306801754381
6306801754380
Answered

4
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Ans X1 QRILERT 6316617 (Affective Domain)
« 2. RIGCIS 621671 (Cognitive Domain)
X 3. Peagdlae 616ce (Analytical Domain)
X 4 dIReRIEFlca 621671q (Psychomotor Domain)

Question ID : 630680449316
Option 11D : 6306801754394
Option 2 ID : 6306801754396
Option 31D : 6306801754397
Option 4 ID : 6306801754395
Status : Answered
Chosen Option : 2
Q.13 When a student learns through trial and error and eventually arrives at a solution, it is an example of the:
Ans X 1. Lecture method.
X 2. Direct teaching method.
+ 3. Problem-solving method.
X 4. Observation method.
Question ID : 630680449311
Option 11D : 6306801754376
Option 2 ID : 6306801754374
Option 31D : 6306801754375
Option 4 1D : 6306801754377
Status : Answered
Chosen Option: 3
Q.14 Mr Smith wants his students to understand the properties of different chemical reactions. He assigns them a real-world
issue related to pollution and asks them to design a process to mitigate its effects using chemical reactions. This
pedagogical approach primarily uses which method?
Ans X 1. Discovery
X 2. Observation
X 3. Experimentation
« 4. Project
Question ID : 630680449315
Option 11D : 6306801754393
Option 2 ID : 6306801754392
Option 31D : 6306801754391
Option 4 ID : 6306801754390
Status : Answered
Chosen Option : 2




Q15 The primary goal of teaching science at the upper primary stage is to:

Ans

# 1. Ensure students can recite scientific definitions

+ 2. Foster a deeper understanding of scientific concepts.

X 3. Prepare students for competitive exams.

X 4. Encourage rote learning.

Question ID : 630680449310
Option 11D : 6306801754373
Option 2 ID : 6306801754372
Option 31D : 6306801754370
Option 4 1D : 6306801754371
Status : Answered
Chosen Option : 2
Q16 A tool that assesses both the process and the product of students' work is:
Ans 1. Short answer test.
+ 2. Portfolio.
X 3. Objective test.
X 4. Multiple-choice test.
Question ID : 630680449317
Option 11D : 6306801754399
Option 2 1D : 6306801754401
Option 31D : 6306801754398
Option 4 1D : 6306801754400
Status : Answered
Chosen Option : 2
Q.17 What does the acronym "CBA" stand for in the context of science assessment?
Ans X 1. Continuous Behaviour Analysis
+ 2. Curriculum-Based Assessment
X 3. Critical Biological Assessment
X 4. Conceptual and Behavioural Analysis
Question ID : 630680449324
Option 11D : 6306801754426
Option 2 ID : 6306801754427
Option 31D : 6306801754428
Option 4 1D : 6306801754429
Status - Not Attempted and

Chosen Option :

Marked For Review




Q.18

Ans
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Question ID : 630680449321
Option 11D : 6306801754414
Option 2 ID : 6306801754417
Option 31D : 6306801754416
Option 4 ID : 6306801754415
Status : Answered
Chosen Option: 3
Q.19 Which technique involves evaluating students' ability to apply scientific knowledge and skills to solve real-world
problems?
Ans X' 1. Flashcards
X 2. Multiple-choice tests
+ 3. Science projects
X 4. Homework assignments
Question ID : 630680449325
Option 11D : 6306801754433
Option 2 ID : 6306801754431
Option 3 1D : 6306801754430
Option 4 1D : 6306801754432
Status : Answered
Chosen Option : 3
Q.20 What is the main objective of teaching the "Nature of Science" at the upper primary level?
Ans 1. To understand how science works and its principles
X 2. To avoid hands-on experiments
X 3. To memorize scientific facts
X 4. To instil a fear of science
Question ID : 630680449318
Option 11D : 6306801754404
Option 2 ID : 6306801754405
Option 31D : 6306801754402
Option 4 ID : 6306801754403
Status : Answered

Chosen Option :

1




Q21 p integrated education, what does the acronym "ELA" usually represent?

Ans

+ 1. English I anguage Arts
X 2. Effective Learning Approaches
X 3. Environmental Literacy Advocacy

X 4. Educational Leadership Advancement

Question ID : 630680449322
Option 11D : 6306801754421
Option 2 ID : 6306801754418
Option 31D : 6306801754419
Option 4 ID : 6306801754420
Status : Answered
Chosen Option : 2
Q.22 1y ap integrated approach, what does the acronym "PLTW" typically stand for?
Ans X 1. Personalized Learning and Teaching Workshops
X 2. Program for Language and Technical Workshops
X 3. Practical Learning Through Writing
« 4. Project Lead The Way
Question ID : 630680449323
Option 11D : 6306801754425
Option 2 ID : 6306801754423
Option 3 1D : 6306801754422
Option 4 ID : 6306801754424
Status : Answered
Chosen Option : 1
Q.23 What does the acronym "POE" represent in the context of the observation method?
Ans X 1. Professional Observation Evaluation
X 2. Primary Observation Experience
X 3. Post Office Entry
« 4. Predict, Observe, Explain
Question ID : 630680449320
Option 11D : 6306801754413
Option 2 ID : 6306801754412
Option 31D : 6306801754410
Option 4 ID : 6306801754411
Status : Answered
Chosen Option : 4




Q.24 What is the significance of teaching ethics and values in the context of science education?

Ans X 1. It promotes scientific dishonesty

« 2. It encourages responsible and ethical scientific practices
X 3. It solely focuses on exam results

X 4. Tt has no relevance to science education

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680449319
6306801754408
6306801754406
6306801754409
6306801754407
Answered

2




